C:# |dentifying Rate of Change (Equations) Name:

| dentify therate of change. Answers
D) Y=9xX+(Xx-1) 2) Y=X-8
1.
2.
3.
4,
3 Y=Xx3 4) Y=2xX-(X+2)
5.
6.
7.
8.
5 Y=X+3 6) Y=7xX
9.
10.
7 Y=-X 8) Y=4xX-(X-8)
9 Y=8xXx8 10) Y=5xX+8
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3)

5)

7)

9)

|dentifying Rate of Change (Equations)

Name:.  Answer Key

| dentify therate of change. ANSWers
D Y=9xX+(Xx-1) 2) Y=X-8 .
X Y |ROC X |Y |ROC t
- © o 191 2 1
0 0 8 0 |-8]1
1 8 8 1 |-7 |1 3 3
2 16 8 2 -6 |11
4 1
Y=X%3 4 Y=2xX-(X+2) .
X | Y [ROC X | Y |ROC °
-1 -3 |3 -1 -3 1 6 7
O [0 |3 0 ) 1
1 13 |3 1 -1 1 7 1
2 |6 |3 2 0 1 8 ;
Y =X+3 6) Y=7xX 9 o
X 1Y |ROC X|Y |[ROC
e d il L L 10 5
0 [3 |1 0O |0 (7
1 14 |1 1 (7 |7
2 5 |1 2 |14 |7
Y=X 8) Y=4xX-(X-8)
XY |ROC X Y |ROC
-111 |-1 1 5 3
010 |-1 0 8 3
1 -1f-1 1 11 3
2 |-2]-1 2 14 3
Y =8xXx8 10) Y=5xX+8
X|Y |[ROC X |Y [ROC
-1 |-64 |64 1 13 s
O |0 64 0O |8 5
1 |64 |64 1 113 |5
2 |128 |64 2 18 |5
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C:# |dentifying Rate of Change (Equations) Name:

| dentify therate of change. Answers
1) Y=8xX-(Xx4) 2) Y=6xX-(X-3)
1
2
3
4,
3 Y=2xX+2 4) Y=X-3
5.
6.
7.
8.
5 Y=3xX+(Xx-1) 6) Y =4xX+(X+3)
.
10.
) Y=9xX 8 Y=X+8
9 Y=X 10) Y=8xX-(Xx-1)
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ﬂh |dentifying Rate of Change (Equations) Name: Answer Key

| dentify therate of change. Answers
1) Y=8xX-(Xx4) 2 Y=6xX-(X-3) A
X | Y [RoC X | Y |ROC -

1 |4 |4 1 |2 |5 2 S

o |0 |4 o I3 |5

1 |4 |a 1 8 |5 3 2

> 8 |4 > |13 |5

4 1
3 Y=2xX+2 4) Y=X-3 5
X | v [ROC x [Y [rRoC °

1 o |2 141 5 5

o 2 |2 0 |31

1 |4 |2 1 |21 7 9

2 |6 |2 2 1)1 8 !
5) Y=3xX+(Xx-1) 6) Y=4xX+(X+3) 9 .

X Y [ROC X | v [roc

1 |2 ]2 1 |2 s 10 9

0 0 2 E 5

1 2 2 1 |8 5

2 4 2 > |13 s
7) Y=9xX 8 Y=X+8

x|y [rRoC x [ Y [ROC

11]-9 |9 107 [

0 |0 |9 08 1

1 l0 o 100 1

2 18 |0 2 |10 1
9 y=X 10) Y=8xX-(Xx-1)

x|y [roC X | v [rocC

11 -1 1 |9 o

0o |1 o o 9

111 1|9 9

2 [-2]-1 2 |18 o

1-10 90|80 70|60 |50]40]30]20[10] O |
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C:# |dentifying Rate of Change (Equations) Name:

| dentify therate of change. Answers
1) Y=2xX-6 2) Y=X+2
1
2.
3
4.
3 Y=3xX+(Xx2) 4 Y=5xX-(X-2)
5.
6.
7.
8.
9 Y=X-2 6) Y=X-(2x-1)
9.
10.
7) Y=4xX-(Xx4) 8) Y=9xX+6
9 Y=7xX+(X-8) 10) Y=5xXx6

1-10 90|80 70|60 |50]40]30]20[10] O |
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ﬂh |dentifying Rate of Change (Equations) Name: Answer Key

| dentify therate of change. Answers
1) Y=2xX-6 2 y=X+2 5
x |y [roc x | Y [roC -
1 |8 |2 EREE ) 1
0o |6 |2 0 |2 [1
1 |4 |2 1 3 1 3 o
2 |2 |2 2 la 1 ) .
3) Y=3xX+(Xx2) 4) Y=5xX-(X-2) 1
X | Y [rocC X | Y |[ROC °
1 |5 |5 1 |2 |4 ] 1
0o |0 5 o |2 |a
1 |5 5 1 6 |4 7 0
R 2 |10 |4 .
8
5) Y=X-2 6) Y=X-(2x-1) . 3
x [y [rRoC X | v [roc
131 1 1 [ o 30
0 |21 0o |2 |1
1 1)1 1 3 .1
2 o 1 2 & 1
7)Y =4xX-(Xx4) 8) Y=9xX+6
X | Y [roc x | v [roC
1 o o 1 |3 |9
o o o 0o |6 |9
1 o o 1 |15 |9
> o o 2 |24 |o
9 Y=7xX+(X-8) 10) Y=5xXx6
X | Y |rOC x| v [RoC
1 |16 |8 1 |-30 |30
o |8 |8 0o o |30
1 o 8 1 [30 |30
> I8 8 2 |60 |30

1-10 90|80 70|60 |50]40]30]20[10] O |
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C:# |dentifying Rate of Change (Equations) Name:

I dentify the rate of change. Answers
1) Y=6xX+5 2) Y=X-7
1.
2.
3.
4.
3) Y=X+6 4) Y =4xX+(Xx-1)
5.
6.
7.
8.
S) Y =6xX-(X+8) 6) Y=4xX-3
9.
10.
7) Y=X-(3x-1) 8) Y =4xX-(X%-1)
9 Y=3xX-(Xx4) 10)  Y=7xX+(Xx6)

1-10 90|80 70|60 |50]40]30]20[10] O |
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|dentifying Rate of Change (Equations)

Name: Answer Key

| dentify therate of change. Answers
1) Y=6xX+5 2) Y=X-7 6
X | Y [roOC x [y [roC t
1 -1 |6 1 |-8 |1 N 1
0 5 6 0 |-7 )1
1 |11 e 1 |61 3 1
2 17 |6 2 |-5 11 . 3
3) Y=X+6 4) Y =4xX+(Xx-1) 5
x [y [roc X Y |rOC °
15 |1 1 3 |3 6 4
0O |6 |1 0 0 3
1 17 [ 1 3 3 7 1
2 8 |1 2 6 3 . 5
5 Y=6xX-(X+8) 6) Y=4xX-3 1
9
X Y ROC X 1Y |[ROC
-1 |13 |5 1 -7 |4 10, 13
0 -8 5 0O |-3 |4
1 -3 5 1 1 4
2 2 5 2 5 4
) Y=X-(3x-1) 8) Y=4xX-(Xx-1)
X Y |ROC X Y ROC
-1 2 1 -1 -5 5
0 3 1 0 0 5
1 4 1 1 5 5
2 5 1 2 10 5
9 Y=3xX-(Xx4) 10)  Y=7xX+(Xx6)
X Y |ROC X Y ROC
-1 1 -1 -1 -13 13
0 0] -1 0 0] 13
1 -1 -1 1 13 13
2 -2 -1 2 26 13
[ Math ] 4 1-10 [90[80]70]60]50]40]30] 20 10] 0 |
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C:# |dentifying Rate of Change (Equations) Name:

| dentify therate of change. Answers
1) Y=9xX-(X-6) 2) Y=X+(7x-1)
1.
2.
3.
4.
3 Y=7xXx5 4) Y=Xx4
5.
6.
7.
8.
5 Y=X-(2x-1) 6) Y=X-4
9.
10.
7) Y=9xX-5 8) Y=9xX-(X+5)
9 Y=9xX+2 10) Y=X+9

1-10 90|80 70|60 |50]40]30]20[10] O |
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|dentifying Rate of Change (Equations)

Name: Answer Key

| dentify the rate of change.

1) Y=9xX-(X-6)

3)

5)

7)

9)

[ M ath ] www.CommonCoreSheets.com

X Y |[ROC
-1 -2 8
0 6 8
1 14 8
2 22 8
Y =7xXx5

XY |[ROC
-1 |-35 |35
0O |0 35
1 |35 |35
2 |70 |35
Y =X-(2x-1)

X Y |ROC
-1 1 1
0 2 1
1 3 1
2 4 1
Y=9xX-5

X 1Y [ROC
-1 |-14 |9
O |-5 |9
1 14 |9
2 |13 |9
Y =9xX+2
X |Y |ROC
-1 -7 |9
o 2 |9
1 (11 |9
2 (20 |9

2)

4)

6)

8)

10)

Y =X+(7x-1)

X

ROC

-1

[HEYY [N RN

ROC

N

ROC

[HENY [N RN

Y =9xX-(X+5)

Y

ROC

-13

-5

3

11

(ool NeclNooRNoo)

ROC

[HENY Y Y

Answers
1 8
2 1
3 35
4 4
5 1
6 1
7 9
8 8
9 9
10 1
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C:# |dentifying Rate of Change (Equations) Name:

| dentify therate of change. Answers
1) Y=X-7 2) Y=6xX-(X+6)
1.
2.
3.
4,
3 Y=X-(8%x-1) 4) Y=Xx9
5.
6.
7.
8.
5 Y=3xX+4 6) Y=9xX+(X+7)
9.
10.
7) Y=3xX-(Xx4) 8) Y=5xXx8
9 Y=9xX+(X-2) 10) Y=6xXx(X+5)

1-10 90|80 70|60 |50]40]30]20[10] O |
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|dentifying Rate of Change (Equations)

Name: Answer Key

I dentify the rate of change. Answers
1) Y=X-7 2) Y=6xX-(X+6) 1
x [y [roc X | Y |rocC -
-1 (-8 11 -1 -11 5 9 5
0O |-7]1 0 -6 5
1|61 R 3 1
2 |-5]1 2 4 5 . 9
3 Y=X-(8%x-1) 4) Y=Xx9 3
X | Y |ROC x| v [rRoC °
-1 |7 1 -11-9 |9 6 10
0 8 1 O |0 |9
1 o |1 1 ]9 |9 7 1
2 10 1 2 118 |9 . 40
5 Y=3xX+4 6) Y=0xX+(X+7) 10
9
X 1Y |ROC X Y |ROC
-1 |1 3 -1 -3 10 10, 18
0O |4 3 0 7 10
1 |7 3 1 17 10
2 |10 |3 2 27 10
1) Y=3xX-(Xx4) 8) Y=5xXx8
X Y |ROC X1Y |ROC
-1 1 -1 -1 |-40 |40
0 0 -1 0O |0 40
1 -1 -1 1 |40 |40
2 -2 -1 2 (80 |40
9 Y=9xX+(X-2) 10)  Y=6xXx(X+5)
X Y |ROC X Y |ROC
-1 -12 10 -1 -24 36
0 -2 10 0 0 36
1 8 10 1 36 -18
2 18 10 2 84 18
[ Math ] 6 1-10 [90]80[70]60[50]40]30 20 10] 0]
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C:# |dentifying Rate of Change (Equations) Name:

| dentify therate of change. Answers
D) Y=6xX+(X+2) 2) Y=-X
1
2
3
4,
3) Y=Xx7 4) Y =4xXx9
5.
6.
7.
8.
9 Y=2xX-(Xx-1) 6) Y=7xX+(Xx9)
.
10.
7)Y =6xX+(Xx-1) 8) Y=8xX-(X-4)
9 Y=X+7 10) y=X-3

1-10 90|80 70|60 |50]40]30]20[10] O |
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|dentifying Rate of Change (Equations) Name: Answer Key
I dentify the rate of change. Answers
D) Y=6xX+(X+2) 2) Y=-X -
X | v |roc x|y [roc -
1 |5 |7 “1(1 -1 ) 1
0 2 7 010 |1
1 |9 7 1 [-1]1 3 /
2 16 7 2 [-2|-1 . 36
3 Y=Xx7 4) Y=4xXx9 3
x [ v [rRoC X | v [ROC °
17 |7 1 |-36 |36 ] 16
O [0 |7 0O |0 36
1|7 |7 1 |36 [36 7 o
2 (14 |7 2 |72 |36 . 7
9 Y=2xX-(Xx-1) 6) Y=7xX+(Xx9) . 1
X Y |ROC X Y |ROC
1 |3 3 1 |16 |16 0 1
0 0 3 0 0 16
1 3 3 1 16 16
2 6 3 2 32 16
7 Y=6xX+(Xx-1) 8) Y=8xX-(X-4)
X Y |ROC X Y |ROC
-1 -5 5 -1 -3 7
0 0 5 0 4 7
1 5 5 1 11 7
2 10 5 2 18 7
9 Y=X+7 10) y=X-3
XY [ROC XY |ROC
-1 1 -11(-4 |1
O (7 |1 0 -3 (1
1 |8 |1 1 |-2 (1
2 19 |1 2 |-1 (1
[ Math ]WWW'CommoncoreSheas'com 7 1-10 [90]80[70]60[50]40]30 20 10] 0]




C:# |dentifying Rate of Change (Equations) Name:

| dentify therate of change. Answers
D) Y=4xX+(X-3) 2) Y=5xX+2
1
2.
3.
4,
3 Y=X+3 4) Y=TxXx4
5.
6.
7.
8.
5 Y=X-(9x-1) 6) Y=5xX
9.
10.
7) Y=3xX+(X+4) 8) Y =5xX+(Xx-1)
9 Y=Xx7 10) Y =4xX+(Xx7)

1-10 90|80 70|60 |50]40]30]20[10] O |
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3)

5)

7)

9)

|dentifying Rate of Change (Equations)

Name:.  Answer Key

I dentify the rate of change. ANSWers
1) Y:4XX+(X-3) 2) Y=5xX+2 .
X | Y |ROC X | Y |ROC -
= © > 1 8 5 2 5
0 -3 5 0o |2 5
1 2 S 1 |7 |5 3. 1
E 7 5 2 |12 |5 ) -
Y=X+3 4) Y=7xXx4 .
X |Y [ROC X | Y |ROC >
-1 12 |1 -1 |-28 |28 5 5
0 [3 |1 0O |0 28
1 |4 |1 1 (28 |28 7 4
2 |5 |1 2 |56 |28 ) 4
Y=X-(9%-1) 6) Y=5xX 9 .
X Y |[ROC X |Y IROC
1 98 ! 15 p 10. 11
0 9 1 0olo |5
1 10 1 1 15 |5
2 11 1 2 110 |5
Y =3xX+(X+4) 8) Y=5xX+(Xx-1)
X Y [ROC X Y |[ROC
-1 0 4 -1 A 4
0 4 4 0 0 4
1 8 4 1 4 4
2 12 4 2 8 4
Y=XXT 10) Y=4xX+(Xx7)
XY |[ROC X Y |ROC
-1 -7 |7 -1 -11 11
O [0 |7 0] 0 11
1 |7 |7 1 11 11
2 (14 |7 2 22 11
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C:# |dentifying Rate of Change (Equations) Name:

| dentify therate of change. Answers
1) Y=9xX-(Xx6) 2) Y=TxX+2
1
2
3
4,
3 Y=3xX-(X-6) 4) Y=4xX-5
5.
6.
7.
8.
9 Y=X-9 6) Y=X+(6x-1)
.
10.
7) Y=5xX+(X+4) 8) Y=2xX-(Xx-1)
9 Y=3xX+(Xx7) 100 y=-X
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ﬂh |dentifying Rate of Change (Equations) Name: Answer Key

| dentify therate of change. Answers
1) Y=9xX-(Xx6) 2) Y=TxX+2 3
X | Y [RoC x | Y [ROC -
-1 -3 3 -1 |5 |7 2 7
0 0 3 0o 2 |7
1 3 |3 1 o |7 3 2
2 6 3 2 |16 |7 \ 4
3) Y=3xX-(X-6) 4) Y=4xX-5 1
X | Y |ROC X | Y [RrOC °
1 |4 2 1 |9 |4 6 1
0 6 2 0 |5 |4
1 |8 |2 1 |1 |4 7 6
2 10 |2 2 13 |4 ) 3
5 Y=X-9 6) Y=X+(6x-1) . 10
X|Y |[ROC X | Y |ROC
-1|-10(1 1 -7 1 10 1
019 |1 0o -6 |1
11-8 |1 1 |5 |1
2 -7 |1 2 -4 |1
7)Y =5xX+(X+4) 8) Y=2xX-(Xx-1)
X Y |[ROC X Y |ROC
1 |2 6 -1 -3 3
0 4 6 0 0 3
1 10 |6 1 3 3
2 16 |6 2 6 3
9 Y=3xX+(Xx7) 10) y=-X
X Y |ROC X|Y|rROC
1 -10 |10 1)1 |1
0 0 10 010 |-1
1 10 10 1 |-1]1
2 20 10 2 |-2|-1

1-10 90|80 70|60 |50]40]30]20[10] O |
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C:# |dentifying Rate of Change (Equations) Name:

| dentify therate of change. Answers
D) Y=X+9 2) Y=X+(9x-1)
1
2.
3.
4,
3 Y=X-(9%x-1) 4) Y=8xX-(Xx3)
5.
6.
7.
8.
9 Y=8xX-7 6) Y=5xXx9
9.
10.
7 Y=X-5 8) Y=09xX+2
9 Y=4xX+(Xx-1) 10) Y=6xX-(X+7)

1-10 90|80 70|60 |50]40]30]20[10] O |
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ﬂh |dentifying Rate of Change (Equations) Name: Answer Key

| dentify therate of change. Answers
1) Y=X+9 2) Y=X+(9x-1) 1
x|y [rRoc X | v [rRoC -
18 |1 1 10 |1 ) 1
09 |1 o |9 1
1 101 1 -8 |1 3 1
2 |11 1 > |7 I . 5
3 Y=X-(9%-1) 4 Y=8xX-(Xx3) 3
X | Y |ROC X | v [roc °
1 8 1 |5 |5 5 45
o o |1 o o |5
1 |10 |1 1 |5 5 7 1
2 11 11 > |10 |s : .
5) Y=8xX-7 6) Y=5xXx9 . 3
x| v [rocC x| vy [rRoC
1 |15 |8 1 |-45 |45 0 5
0o |7 I8 0o |o |45
1 1 8 1 |45 |45
2 o 8 2 lo0 |45
7 Y=X-5 8) Y=09xX+2
x|y [roC x | v [rROC
161 1 -7 o
0 |51 0o [2 o
1 41 1 |11 |9
2 31 2 |20 o
9 Y=4xX+(Xx-1) 10) Y=6xX-(X+7)
X Y [rOC X | Y [roC
1 |3 3 1 |12 |s
0 0 3 o |7 s
1 3 3 1 |2 |5
2 6 3 E 5

1-10 90|80 70|60 |50]40]30]20[10] O |
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